

THE ASSOCIATED SCHUR COMPLEMENTS OF $M = \begin{bmatrix} A & B \\ C & D \end{bmatrix}$

Hongxing Wang and Xiaoji Liu

Abstract

Let $S_1 = A - BD^\dagger C$ and $S_2 = D - CA^\dagger B$ be the associated Schur complements of $M = \begin{bmatrix} A & B \\ C & D \end{bmatrix}$. In this paper, we derive necessary and sufficient conditions for $S_1 = 0$ imply $S_2 = 0$ by using generalized inverses of matrices and singular value decompositions.

1 Introduction

Let $A \in \mathbb{C}_r^{m \times n}$, $B \in \mathbb{C}_s^{m \times q}$, $C \in \mathbb{C}_t^{p \times n}$ and $D \in \mathbb{C}_k^{p \times q}$. Consider the matrix

$$M = \begin{bmatrix} A & B \\ C & D \end{bmatrix} \quad (1)$$

and let

$$S_1 = A - BD^\dagger C \quad \text{and} \quad S_2 = D - CA^\dagger B \quad (2)$$

be the associated Schur complements.

In [2], the following problem was given:

Problem 1: Let M be the matrix in (1) with Schur complements (2). When does $S_1 = 0$ imply $S_2 = 0$?

In this paper, we derive necessary and sufficient conditions for $S_1 = 0$ imply $S_2 = 0$ by using generalized inverses of matrices and singular value decomposition.

2010 *Mathematics Subject Classifications.* Primary 15A09; Secondary 15A03; 15A24.

Key words and Phrases. Moore-Penrose generalized inverse, singular value decomposition, associated Schur complements, matrix equations.

Received: May 21, 2010

Communicated by J. J. Koliha

We are grateful for the financial support from the Excellent Young Talents Foundation in Universities of Anhui Province (2009SQRZ163ZD) and Ministry of Education Science and Technology key project(210164).

Lemma 1. Let $\begin{bmatrix} 0 & 0 \\ 0 & I \end{bmatrix} \begin{bmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{bmatrix}^\dagger = 0$ with appropriate sizes, then:

$$X_{12} = 0 \text{ and } X_{22} = 0.$$

Proof. Substituting $\begin{bmatrix} \widehat{X}_{11} & \widehat{X}_{12} \\ \widehat{X}_{21} & \widehat{X}_{22} \end{bmatrix} := \begin{bmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{bmatrix}^\dagger$ into $\begin{bmatrix} 0 & 0 \\ 0 & I \end{bmatrix} \begin{bmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{bmatrix}^\dagger = 0$ leads to the equivalences $\widehat{X}_{21} = 0$ and $\widehat{X}_{22} = 0$.

$$\text{Because } \begin{bmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{bmatrix} = \begin{bmatrix} \widehat{X}_{11} & \widehat{X}_{12} \\ \widehat{X}_{21} & \widehat{X}_{22} \end{bmatrix}^\dagger = \begin{bmatrix} \widehat{X}_{11} & \widehat{X}_{12} \\ 0 & 0 \end{bmatrix}^\dagger, \text{ we drive}$$

$$\begin{bmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{bmatrix} = \begin{bmatrix} X_{11} & 0 \\ X_{21} & 0 \end{bmatrix},$$

i.e., $X_{12} = 0$ and $X_{22} = 0$. \square

Lemma 2. Let A, B, C, D, M, S_1 and S_2 be the same as in Problem 1. Suppose $S_1 = 0$ and $S_2 = 0$. Then

$$(BD^\dagger C)^\dagger = C^\dagger DB^\dagger. \quad (3)$$

Proof. Let the singular value decomposition (SVD)[3] of A, B, C and D be

$$\begin{aligned} U_A^* A V_A^* &= \begin{bmatrix} \Sigma_A & 0 \\ 0 & 0 \end{bmatrix} \begin{matrix} r \\ m-r \end{matrix}, U_B^* B V_B^* = \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} \begin{matrix} s \\ m-s \end{matrix}, \\ U_C^* C V_C^* &= \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} \begin{matrix} r & n-r \\ t & n-t \end{matrix}, U_D^* D V_D^* = \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} \begin{matrix} s & q-s \\ k & q-k \end{matrix}, \end{aligned} \quad (4)$$

in which $\Sigma_A, \Sigma_B, \Sigma_C$ and Σ_D are positive diagonal matrices, and $U_A, U_B, U_C, U_D, V_A, V_B, V_C$ and V_D are unitary matrices with appropriate sizes.

Substituting (4) into $S_1 = 0$ leads to

$$\begin{aligned} U_B^* U_A \begin{bmatrix} \Sigma_A & 0 \\ 0 & 0 \end{bmatrix} V_A V_C^* &= \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix}, \\ U_B^* U_A \begin{bmatrix} \Sigma_A & 0 \\ 0 & 0 \end{bmatrix} V_A V_C^* &= \begin{bmatrix} \widetilde{A} & 0 \\ 0 & 0 \end{bmatrix} \begin{matrix} s \\ m-s \\ t & n-t \end{matrix}, \end{aligned} \quad (5)$$

and

$$\left(U_B^* U_A \begin{bmatrix} \Sigma_A & 0 \\ 0 & 0 \end{bmatrix} V_A V_C^* \right)^\dagger = V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B = \begin{bmatrix} (\widetilde{A})^{-1} & 0 \\ 0 & 0 \end{bmatrix}. \quad (6)$$

Substituting (4) into $S_2 = 0$ leads to

$$U_C^* U_D \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* = \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix}. \quad (7)$$

Then from (4)-(7),

$$\begin{aligned} & C^\dagger D B^\dagger \\ &= V_C^* \begin{bmatrix} \Sigma_C^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_C^* U_D \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* \begin{bmatrix} \Sigma_B^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_B^* \\ &= V_C^* \begin{bmatrix} \Sigma_C^{-1} & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \Sigma_B^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_B^* \\ &= V_C^* \begin{bmatrix} I & 0 \\ 0 & 0 \end{bmatrix} V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B \begin{bmatrix} I & 0 \\ 0 & 0 \end{bmatrix} U_B^* \\ &= V_C^* \begin{bmatrix} I & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \tilde{A} & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} I & 0 \\ 0 & 0 \end{bmatrix} U_B^* \\ &= V_C^* V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B U_B^* \\ &= A^\dagger. \end{aligned} \quad (8)$$

Applying (8) and $S_1 = A - C^\dagger D B^\dagger = 0$ gives (3). \square

Lemma 3. [6] Let $A \in \mathbb{C}^{m \times n}$, $B \in \mathbb{C}^{n \times p}$ and $C \in \mathbb{C}^{p \times q}$ be given, and let $M = ABC$ if $R(B) \subseteq R(A)$ and $R(B^*) \subseteq R(C)$, then

$$r(M^\dagger - C^\dagger B^\dagger A^\dagger) = r \begin{bmatrix} B \\ B C C^* \end{bmatrix} + r \begin{bmatrix} B & A^* A B \end{bmatrix} - 2r(B).$$

In particular,

$$(ABC)^\dagger = C^\dagger B^\dagger A^\dagger$$

if and only if

$$R(A^* A B) \subseteq R(B) \quad \text{and} \quad R((B C C^*)^*) \subseteq R(B^*).$$

Lemma 4. Let B, C and D be the same as in Problem 1. Then the equalities $(I - C C^\dagger) D = 0$, $D(I - B^\dagger B) = 0$ and (3) holds if and only if

$$r \begin{bmatrix} B \\ D \end{bmatrix} = r(B), r \begin{bmatrix} C & D \end{bmatrix} = r(C) \quad \text{and} \quad r \begin{bmatrix} D \\ D B^* B \end{bmatrix} + r \begin{bmatrix} D & C C^* D \end{bmatrix} = 2r(D) \quad (9)$$

Proof. It is well know that the equalities $(I - C C^\dagger) D = 0$ and $D(I - B^\dagger B) = 0$ holds if and only if

$$R(D^*) \subseteq R(B^*) \quad \text{and} \quad R(D) \subseteq R(C) \quad (10)$$

if and only if

$$r \begin{bmatrix} B \\ D \end{bmatrix} = r(B) \quad \text{and} \quad r [C \quad D] = r(C), \quad (11)$$

and the equalities $R(D^*) \subseteq R(B^\dagger)$ and $R(D) \subseteq R((C^\dagger)^*)$ holds if and only if

$$R(D^*) \subseteq R(B^*) \quad \text{and} \quad R(D) \subseteq R(C) \quad (12)$$

and

$$\begin{aligned} 0 &= r \begin{bmatrix} D^\dagger \\ D^\dagger C C^* \end{bmatrix} + r [D^\dagger \quad B^* B D^\dagger] - 2r(D^\dagger) \\ &= r \begin{bmatrix} D^* \\ D^* C C^* \end{bmatrix} + r [D^* \quad B^* B D^*] - 2r(D) \\ &= r \begin{bmatrix} D \\ D B^* B \end{bmatrix} + r [D \quad C C^* D] - 2r(D). \end{aligned} \quad (13)$$

Applying Lemma 3 and (10-13) to (9) gives $(I - C C^\dagger) D = 0$, $D(I - B^\dagger B) = 0$ and (3) holds if and only if

$$r \begin{bmatrix} B \\ D \end{bmatrix} = r(B), r [C \quad D] = r(C) \quad \text{and} \quad r \begin{bmatrix} D^\dagger \\ D^\dagger C C^* \end{bmatrix} + r [D^\dagger \quad B^* B D^\dagger] = 2r(D^\dagger)$$

holds if and only if

$$r \begin{bmatrix} B \\ D \end{bmatrix} = r(B), r [C \quad D] = r(C) \quad \text{and} \quad r \begin{bmatrix} D \\ D B^* B \end{bmatrix} + r [D \quad C C^* D] = 2r(D).$$

2 Main Result

Theorem 1. *Let A, B, C, D, M, S_1 and S_2 be the same as in Problem 1. Suppose $S_1 = 0$. Then the following conditions are equivalent:*

- 1) $S_2 = 0$;
- 2) $(I - C C^\dagger) D = 0$, $D(I - B^\dagger B) = 0$ and $(B D^\dagger C)^\dagger = C^\dagger D B^\dagger$;
- 3) $r \begin{bmatrix} B \\ D \end{bmatrix} = r(B)$, $r [C \quad D] = r(C)$ and $r \begin{bmatrix} D \\ D B^* B \end{bmatrix} + r [D \quad C C^* D] = 2r(D)$.

Proof. Suppose $S_2 = 0$, i.e., $D = C A^\dagger B$.

Multiply $D = C A^\dagger B$ from the left-hand (right-hand) side in $C C^\dagger (B^\dagger B)$, then

$$\begin{aligned} C C^\dagger D B^\dagger B &= C C^\dagger C A^\dagger B B^\dagger B \\ &= C A^\dagger B \\ &= D. \end{aligned} \quad (14)$$

Then

$$D(I - B^\dagger B) = 0, \quad (15)$$

and

$$(I - CC^\dagger)D = 0. \quad (16)$$

Applying (15), (16) and Lemma 2 gives 2).

Conversely, denote $V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C := \begin{bmatrix} \tilde{D} & \tilde{D}_{12} \\ \tilde{D}_{21} & \tilde{D}_{22} \end{bmatrix} \begin{matrix} t \\ p-t \end{matrix}$, then

$$\begin{aligned} V_B V_D^* \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C &= \left(V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C \right)^{\dagger*} \\ &= \left(\begin{bmatrix} \tilde{D} & \tilde{D}_{12} \\ \tilde{D}_{21} & \tilde{D}_{22} \end{bmatrix}^\dagger \right)^*. \end{aligned} \quad (17)$$

Applying (11) and (12) gives the equivalences

$$\left(U_D \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* \begin{bmatrix} 0 & 0 \\ 0 & I_B \end{bmatrix} V_B \right)^* = \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} = (I - B^\dagger B) D^*,$$

and

$$\begin{aligned} \begin{bmatrix} 0 & 0 \\ 0 & I_B \end{bmatrix} V_B V_D^* \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C &= \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} 0 & 0 \\ 0 & I_B \end{bmatrix} \left(\begin{bmatrix} \tilde{D} & \tilde{D}_{12} \\ \tilde{D}_{21} & \tilde{D}_{22} \end{bmatrix}^\dagger \right)^*. \end{aligned} \quad (18)$$

Substituting Lemma 1 into (18) leads to the equivalences

$$\tilde{D}_{21} = 0, \tilde{D}_{22} = 0.$$

Similarly, we can show

$$\tilde{D}_{12} = 0.$$

Then:

$$V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C = \begin{bmatrix} \tilde{D} & \tilde{D}_{12} \\ \tilde{D}_{21} & \tilde{D}_{22} \end{bmatrix} = \begin{bmatrix} \tilde{D} & 0 \\ 0 & 0 \end{bmatrix}. \quad (19)$$

Substituting (5) and (19) into (7) gives

$$\begin{bmatrix} \tilde{A} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} \Sigma_B \tilde{D} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix}. \quad (20)$$

Substituting (4) into $(BD^\dagger C)^\dagger$ and $C^\dagger DB^\dagger$ leads to

$$\begin{aligned} (BD^\dagger C)^\dagger &= \left(U_B \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} V_C \right)^\dagger \\ &= V_C^* \left(\begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} \right)^\dagger U_B^* \end{aligned} \quad (21)$$

and

$$C^\dagger DB^\dagger = V_C^* \begin{bmatrix} \Sigma_C^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_C^* U_D \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* \begin{bmatrix} \Sigma_B^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_B^*. \quad (22)$$

Applying (21), (22) and $(BD^\dagger C)^\dagger - C^\dagger DB^\dagger = 0$ gives

$$\begin{aligned} &\left(\begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} V_B V_D^* \begin{bmatrix} \Sigma_D^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_D^* U_C \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} \right)^\dagger - \begin{bmatrix} \Sigma_C^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_C^* U_D \\ &\quad \times \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* \begin{bmatrix} \Sigma_B^{-1} & 0 \\ 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} (\Sigma_B \tilde{D} \Sigma_C)^\dagger & 0 \\ 0 & 0 \end{bmatrix} - \begin{bmatrix} \Sigma_C^{-1} \tilde{D}^\dagger \Sigma_B^{-1} & 0 \\ 0 & 0 \end{bmatrix} \\ &= 0 \end{aligned}$$

i.e.,

$$\Sigma_C^{-1} \tilde{D}^\dagger \Sigma_B^{-1} = (\Sigma_C \tilde{D} \Sigma_B)^\dagger. \quad (23)$$

Substituting (4), (19) and (20) into $S_2 = D - CA^\dagger B$ leads to

$$\begin{aligned} &U_C^* S_2 V_B^* \\ &= U_C^* U_D \begin{bmatrix} \Sigma_D & 0 \\ 0 & 0 \end{bmatrix} V_D V_B^* - \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} V_C V_A^* \begin{bmatrix} \Sigma_A^{-1} & 0 \\ 0 & 0 \end{bmatrix} U_A^* U_B \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} \tilde{D}^\dagger & 0 \\ 0 & 0 \end{bmatrix} - \begin{bmatrix} \Sigma_C & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \tilde{A}^\dagger & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} \\ &= \begin{bmatrix} \tilde{D}^\dagger - \Sigma_C \tilde{A}^\dagger \Sigma_B & 0 \\ 0 & 0 \end{bmatrix} \end{aligned} \quad (24)$$

Substituting (20) and (23) into (24) gives

$$\tilde{D}^\dagger - \Sigma_C \tilde{A}^\dagger \Sigma_B = \tilde{D}^\dagger - \Sigma_C (\Sigma_B \tilde{D} \Sigma_C)^\dagger \Sigma_B = 0$$

and

$$U_C^* S_2 V_B^* = 0$$

i.e., $S_2 = 0$.

The equivalence of 2) and 3) is based on Lemma 4. \square

References

- [1] A. Ben-Israel and Th. N. E. Greville, *Generalized Inverses: Theory and Applications*, (2nd edition) Springer, Berlin, 2003.
- [2] T. Damm and H. K. Wimmer, *A cancellation property of the Moore-Penrose inverse of triple products*, J. Aust. Math. Soc. 86 (2009), 33–44.
- [3] G.H. Golub and C.F. Van Loan, *Matrix Computations*, (2nd edition) The Johns Hopkins University Press, Baltimore, MD, 1989.
- [4] Y. Takane, Y. Tian and H. Yanai, *On constrained generalized inverses of matrices and their properties*, Ann. Inst. Stat. Math. 59 (2007), 807–820.
- [5] Y. Tian, *Some mixed-type reverse-order laws for the Moore-Penrose inverse of a triple matrix product*, Rocky Mountain J. Math. 37 (2007), 1327–1347.
- [6] Y. Tian and Y. Liu, *On a group of mixed-type reverse-order laws for generalized inverses of a triple matrix product with applications*, Electron. J. Linear Algebra, 16 (2007), 73–89.
- [7] G. Xu, M. Wei and D. Zheng, *On solutions of matrix equation $AXB + CYD = F$* , Linear Algebra Appl. 279 (1998), 93–109.

Hongxing Wang

Department of Mathematics, East China Normal University, Shanghai, China

Department of Mathematics, Huainan Normal University, Anhui, China

E-mail: winghongxing0902@163.com

Xiaoji Liu

College of Mathematics and Computer Science, Guangxi University for Nationalities, Guangxi, China

E-mail: xiaojiliu72@yahoo.com.cn